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— ~ What does the following program print? (10%)
import java.util.*;
class Ary{
public static void main(String[] args) {
int original[] = {3, 5, 1, 8,9, 7, 4};
int [] result = new int [7];
int [] x = new int [10];
int i, temp;
for (i=0; i<10; i++) x[i] = 0;
for (i=0; i<7; i++) x[originali]] = x[original[i]] + 1;
for (i=1; i<10; i++) x[i] = x[i] + x[i-1];
for (i=0; i<7; i++) {
result[x[original[i]]-1]=original[i];
x[original[i]] = x[original[i]]-1;
}
showArray(original);
showArray(result);
3
public static void showArray(int[] array){
System.out.print(" K 7] 8 P32 & 1 ");
for (int i = 0; i < array.length; i++)
System.out.print(array[i} + " ");

System.out.println("\n: "),

= ~ What does the following program print? (10%)

public class Print {
public static void main(String[] args) {
charch="A";
inti=1, m;

do {
m=i;
do {
System.out.print(ch),
ch++;
m--;
} while (m > 0);
System.out.println();
if (ch =="'Z") break;
i=i1+2;
} while (true);

Z ~ What does the following program print? (10%)

#include <iostream>

using namespace::std;

void main()
{
int i=0, j, k=112, a[32];

while (k>0) {
afil=k % 2;
k=k/2;
i+

3

}
for (j=i-1; j>=0; j--) cout <<aljl;
cout << end;
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= ~ Suppose we have the preorder sequetice:
ABCDEFGHI
and the inorder sequence:
BCAEDGHFI
of the same binary tree. What is the binary tree? (10%)

2 ~ Given the following weighted graph, show the detailed steps in Kruskal’s algorithm and
Prim’s algorithm for that graph. (20%)

7% » Write an algorithm to compute the shortest paths from each vertex in a weighted graph to
each of the other vertices. The weights are nonnegative numbers. (20%)

+ ~ Describe how virtual private networks (VPNs) work. (10%)

A\~ Describe the detailed steps of the fetch-execute cycle for executing an instruction. (10%)





